

01/06/2023

Page 1 of 1

Vendor Ranking

04230106 January 06, 2023 10:30 AM Call Order: 001 Letting: Contract: E4W09-R0

District: District 4 Counties: ST LUCIE Fed Aid No: N/A

Project(s): 44805217201 (*) Contract Time: 365 CALENDAR DAYS

Contract Desc: ST. LUCIE - PRIMARY MOWING AND LITTER CONTRACT

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHWIDE INDUSTRIES, INC.	Responsive	Winning bid	\$257,689.65	100.00%
2	TERRA MAINTENANCE CO.	Responsive	Non-Winning Bid	\$289,592.81	112.38%
3	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$354,560.79	137.59%
4	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid	\$940,122.76	364.83%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

10:30 AMÁ **PUTICE TO INTENT TO AWARD WAS POSTED:** BEGIN DATE: €F/H1/2H **BEGIN TIME:**

> END DATE: 02/03/23 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$250,000.00 and not the contractors bid total.



FDOT

Florida Department of Transportation

Tabulation of Bids

Page 1 of 4

Letting: 04230106 January 06, 2023 **Call Order:** 001 **Contract:** E4W09-R0

District: District 4 Counties: ST LUCIE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44805217201 (*)

Contract Descr: ST. LUCIE - PRIMARY MOWING AND LITTER CONTRACT

The work under this Contract consists of materials, equipment, labor, and incidentals to perform mowing, litter removal, edging and sweeping along State roadways in St. Lucie County.

• MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$250,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) SOUTHWIDE INDUSTRIES, INC.		(2) TERRA MAINTENANCE CO.		(3) GRADING & BUSH HOG SERVICES, INC.	
() in	dicates item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (LARGE MACH	INE MOWING (AC	;				
0005 LITTER	E107 1 1 REMOVAL		7,667.640 AC	10.00000	76,676.40	19.00000	145,685.16	13,50000	103,513.14
0010 MOW I N	E107 2 1 NG (LARGE MA	CHINE)	6,856.800 AC	20.00000	137,136.00	13.00000	89,138.40	18.00000	123,422.40
0015 MOW I N	E107 2 2 NG (SLOPE)		172,890 AC	75.00000	12,966.75	75.00000	12,966.75	250,00000	43,222.50
0020 MOWIN	E107 2 3 NG (INTERMED	IATE MACHINE	167.900) AC	40.00000	6,716.00	75.00000	12,592.50	90.00000	15,111.00
0025 MOWIN	E107 2 4 NG (SMALL MAC	CHINE)	320.200 AC	35,00000	11,207.00	75.00000	24,015.00	115,00000	36,823.00
0030 EDGIN	E110 32 2 G		259.750 MI	50.00000	12,987.50	20.00000	5,195.00	125.00000	32,468.75



01/06/2023

	_		
Tahu	lation	of Ride	

Page 2 of 4

Letting:	04230106	January 06, 20)23 C a	all Order: 001		Contract:	E4W09-R0	
Line No / Item ID Alternate Quantity Item Description Units		(1) SOUTHWIDE INDUSTRIES, INC.		(2) TERRA MAINTENANCE CO.		(3) GRADING & BUSH HOG SERVICES, INC.		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price Ext Amount		Unit Price	Ext Amount	
SECTION	ON: 0001	(LARGE MACH	HINE MOWING (A	C				
0001 LARGE MACHINE Section Totals: MOWING (AC)		\$257,689.65		\$289,592.81		\$354,560.79		
	Contract	Grand Totals:		\$257,689 . 65		\$289,592.81		354,560.79



01/06/2023

Tabulation of Bids

Page 3 of 4

Letting:	04230106	January 06, 20	23 Cal	l Order: 001		Contract:	E4W09-R0	
Line No / Ite		Quantity Units	(4) T.T.C. ENVIR					
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(LARGE MACH	INE MOWING (AC	;				
0005 E107 LITTER REMOV		7,667.640 AC	25.00000	191,691.00				
0010 E107 : MOWING (LARG		6,856.800 AC	100.00100	685,686.86				
0015 E107 : MOWING (SLOP		172.890 AC	100.00000	17,289.00				
0020 E107 : MOWING (INTE	2 3 RMEDIATE MACHIN	167.900 E) AC	96.00000	16,118.40				
0025 E107 : MOWING (SMA		320.200 AC	90.0000	28,818.00				
0030 E110 3 EDGING	2 2	259.750 MI	2.00000	519.50				
0001	ARGE MACHINE S	ection Totals:		\$940,122.76				

MOWING (AC)

|--|



01/06/2023

Tabulation of Bids

Page 4 of 4

Letting: 04230106 January 06, 2023 **Call Order:** 001 **Contract:** E4W09-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.